APPENDIX 20

/= CSN=3YS6R8 %/
/% R3B36. - MOST RECENT COLLEGE DEGREE, 1671 */

VALID CQOlDEsS:
- NEVER RECEIVED COLLEGE DEGREE
- ASSOCIATZ DEGR:cE
- BACHELORS DEGRSE (8¢Ae93eSeshede)
- MASTERS (MeSeyMeAogMaBahe)d
COCTORATE (PHeCaeyM.DeD
-~ OTHEK
~ DEGREE TYPE NOT ASCERTAINABLE
- NOT INTERVIEWED

~NOWMmE WN O
i

DERIVATION?

DCL MRD71 FLOAT DEC(6)3
MRD71i=R(30%91.) + 13
IF MRD71<0 THEN DO
IF R(3114.)=6 THEN MRD71=0; -
ELSE MRDT1=R(3114.);

ENDS

IF MRC71<0 THEN MRDT71=63
IF R(3852.)<0 THEN MRD71=7;
IF MROT71=6 THEN DO3

IF R(2563.)%=6 & R(2963.)7=7 THEN MRD71=R(2963.)3
IF (R{2963.)=6 | R(2563.)=7) &
(R(3332.)>=0 & R(3832.)<16) THEN DC;
IF (R(624.500<1 ! R(624.50) >5) &
(R(1141.50)0<1 | R(C1141.50)>5) &
(RC1678450)<1 ! R(1678.50)>5) &
(R(224645G2<1 ! R(22464502>5) THEN MRD71=03
END3
IF (R(2963.)=6 1| R(2963.)=7) & (R(3832.)=16 ! R(3832.)=17) THEN DO;
IF R(624.50)>=1 & R{(624.50)<=5 THEN MROT1=R(624.50)%
IF RC1141.50)>=1 & R(1141.50)<=5 THEN MRD71=R(1141.50);
IF R(1678450)>=1 & R(1678.50)<=5 THEN MRD71=R(1678.50)3
IF R(2246.50)>=1 & R(2246.50)<=5 THEN MRDT71=R(2245.50);

ENDS .

IF R(3832.)<14 THEN MRDT71=03
£ND3
IF (MRD71=6 & R(2963.)=7) & (R(23332.)=16 ! R(3832.2=17) & R(3060.)>=1 THEN
IF R(1.)=388 | R(1.)=1555 THEN MRD71=03
IF MRD71=0 & (R(C2963.)=1 ! R(2963.)=5) &

R(2246.50)=0 THEN MRC71=R(2953.)3
IF MRD71=0 & R(2963.)=1 & R(2246.50)=1 THEN MRD71=R{2963.);
IF MRDT71=0 & R(2963.)=2 THEN MRO71=R(2963.):
IF MRD71=0 & R(29563.)=7 & R(C2246.50)=7 &

R(C1678.50)=7 & R(1141.50)=1 THEN MROT71=R(1141.50);

IF R(1.)=2815 R(1.)=3318 ! R(1.)=3657 THEN MROT71=6;

!

IF R(1.)=2685 | R(1.)=2686 1 R(l.)= 673 |

R(1.)=3026 ! R(1.)=1770 ! R(C1.)=2743 !

R(led= 652 | R(1.)=1108 | R(1l.)=2162 !

R(1.7=1323 | R(C1.)=1589 ! R(1.)=2068 !

R(1.2=3765 ! R(1.)=3843 1 R(1.)=4391 !

R(l.)= 495 | R(1.)=1487 THEN MRDT71=4;
ELSE IF R(C1.)=3657 THEN MRDT71=63

R(3836.)=MRD71;

MRDT71=2




/% DSN=8YSS9R4 */
/% NUMBER OF WEEKS KEY VARIABLES: =/
/% BETWEEN 1375 AND 1976 =/

/% KEY VARIABLES = WORKyWUMPosWTLF4NW */
THS1:
KORK s WUMPyWOLFsNWyWBID = NAS
IF R(5439.50) "= NA THEN CaLL WIMP?

R(5421.) = WUMP;S
R(5452.) = WOLF}
R(5450.) = WORK3S

R(4375.08) = WBID;
WIMP: PROQCS

DCL AC104) FLOAT DEC(6)y
CK(CT) FLOAT DEC(6),
WNWCT) FLOAT DECC(6),
REASONCT) FLOAT DEC(é),
ALTCT) FLOAT DEC(6)D,
MONCT)D FLOAT DZC(8),
DAYCT) FLOAT DEC(S),
YEARCT) FLOAT D2C(6),
SWN(T) FLOAT DEC(6),

SUMP(7) FLOAT DEC(8),
STARM(T) FLOAT DEC(8),
STARDCT7) FLOAT DEC(S),
STARY(7) FLDAT DEC(6),
STOPM(CT) FLOAT DEC(6),
STOPLCT7) FLOAT DEC(6),
STOPY(T) FLOAT DEC(6),
WEEK(T) FLOAT DEC(6),

SCKCD) FLOAT DEC(4),
LM FLOAT DECC(6),
LD FLOAT DEC(8),
LY FLOAT DEC(8),
WL FLOAT DEC(%),
SM FLOAT DEC(6),
SD FLOAT DEC(8), -
SY FLOAT DEC(6),
FuW FLOAT DEC(6)D;
A = NA3

WNW,STOPD = NAj
ByCoD9EsFoeGePsRySeTyVyWyZ
WBIDsLMoLDsLY9yWLySMySD,sSY
”ORK’NUMP;WDLF,NN’H = 0;
LeyFW = 13
IF RC(4375.01) 2= NA & R{4375.02) “*= NA & R(4375.03) ~= NA
THEN T = FUNCR(4373.01)9R(4375.02)+sR(4375.03))3
IF R(l.) = 2575 THEN T = FUN(C11,R(4375.0204R(4375.02))3
E =13
IF R(4375.05) A= NA & R{4375.06) ~= NA & R(C4372.07> ~= NA
THEN S = FUNCR(4373.05)»R(4375.08)sR(4375.07J)3
ELSE IF R(4127.)7= NA & R(4128.)7= NA
THEN S = FUN(R(4127.),PC41284D,75)3
IF S*= NA & T ~= NA THEN DG3

NAS
NA;

WBID = T = S + 13
D9 K = S TC T3
ACK) = 03




END

END3S
ELSE GOTD DAEND;
H = «53
IF R(5439.50) =1 ! R(5439.50) = 2
THEN DO
IF R(C4537.) ~= NA THEN
SM
SO
SY
£
ELSE IF R(4531.) A= 0 THEN
SM
SO
SY

R(4535.)3%
R(4536.)3
R{4537.)3

0o

;
R(4532.)3%
R(4533.)3
R(4534.)3

END;

ELSE IF R(4530.) *= NA THEN DO;
R(4528.);
R(452%.);3
RC45304);
END;
2. NA £ R(4645.) = SY & R(4643.) = SM - 1

oz u o

(%]
(@]
Houwa

>

IF SY A= NA & SD
& R(40644.)

SD = 13
STOPDC1) = 303

ENC S
IF SY > 0 THEN D03

IF SY €< 75 THEN P
ELSE IF SM > 0 THEN P

S
FUNCSMySDySYD 3

- 0"

IF P >0 & T > P THEN DO K = P TO T3
S ACKY = 13
ENDS
IF R(C4615.) ~= 0
THEN DO
IF R(4516.) = NA
THEN DO3

B =13
IF P 2= NA THEN V = FLOOR((T = P = R(4616.)
+ 1) /72 + P)3
o ELSE V = T - R(46164)5
IF P A= NA & T - P + 1 < R(4616.)
THEN GOTJ DAENG;
20 K = V 70O T WHILECR(4616.) >= B3
IF R{4517.) > 0 THEN DO3
IF R(4617.) = £ THEN A(K) = 43
ZLSE ACK) = 53

END;
ELSE DO3
WUMP,WOLF = NA;
ACK) = 23
END;S
B =18+ 1,
ENDS
END;
ELSE 003

NWyW3IRK = NA
IFP>0¢CT

’ -
>= P THEN DO K =
ACK)

END3S
IF R(4617.) > 0 THEN DG

P TCO T3
= 33




IF RC4617.) = 5
THEN WUMP = NAj
ELSE WGLF = NA;
END;
ELSE WOLF,WUMP = NAj
ENC 3
END;
END;
IF R(4608.) A= NA
THEN DO;
IF R(4602.) < 75 THEN D = S3
ELSE IF R(C460%.) A= NA THEN D = FUNCR(C4506.)3RC4607),
R(4508.))3
IF D >0 & T >=D THEN D0 K = 0 TC T;
IF ACK) = 0 THEN ACK) = 13
END;
END;
END 3
ELSE IF R(5439.50) >= 3 & R(5439.50) <= 8§
THEN DO;
IF R(4515.) = 1 THEN DC;
LM = RC4512.)3
LD = R(4513.)3
LY = RC4514.)3
END3
ELSE IF R(4519.) = 1 THEN DO}
LM = RC4516.)3
LD = R(4517.)3
LY = RC4518.)3
END3
IF LM > 0 & LY > 0 THEN € = FUNCLM,LD,LY);
IF C = NA & R(46204) > O THEN C = T = R(4620.) + 13
IF RC46204) ~= NA & R(C4620.) = RC4621.) & C ~= NA &
C A= T - R(4620.) + 1
THEN WL = T = C + 13
ELSE WL = R(C4621.)3
IF C A= NA THEN DO3
IF WL > 0 & R(C4620.) A= NA & ABS(T = C - R(4620.)) > 2
£ WL A= T = C +1  THEN WL = NAj
IF C < S THEN C™= S; ' '
W= 13
IF T >= C THEN DO K = C TO T3
IF WL >= 0 THEN 00;
IF WL >= W THEN A(K) =
ELSE ACK) =
W= W+ 13
END;
ELSE DO
WUMP,WOLF = NA3
ACK) = 23
ENDS
END S
ENG3
IF R(4515.) A= 1 & R(4519.) ~= 1
THEN D03
IF R(45625.) = NA
THEN DO
WORK s WOLFgNW = NAS
IF R(46264) ~= 0 & R(4627.) = NA

THEN WUMP=NAj;




ELSE IF R(4627.) > 0

THEN DO K = T 72 S 2Y =13
IF L <= R(4527.) THEN AC(K) = &
ELSE A(CK) = 3;
L=1L+ 13
END;
END3
ELSE DO XK = S TC T3
IF FW <= R(4525.)
THEN DO
ACK) = 13
FWw = FW + 13
ENDS
ELSE D03
IF R(4526.) = 0 | R(4627.) > 0O
THEN DO;
IF L <= R(45827.)
THEN ACK) = 43
ELSE ACK) = 53
L =1L + 13
END3
- ctLSE DO;
WUMP s WCLF = NAjS
ACK) = 23
END3S
END3S
END 3
ENDS
ENDS
J =13
DO I = 5347 TO 5563 BY 363
CKCJD = XCI + 139)37 WNWCJ) = XCI + 20); REASONCJ) = X(I + 21);
ALTCJ) = XCI + 2203 MONCJ) = XCI + 283 DAY(D) = X(I + 29D
YEARCJ)Y = X(I + 3G): SWNCJ) = X(I + 31); SUMP () = X(I + 32)3
STARMCJ) = X(CI + 915 STARD(J) = X(I + 10)5 STARY(J) =xX(I + 11);
STOPMCJ) = X(I + 12> IF STOPDCJ) = NA THEN STCPDCJ) = X(I + 13);
ST3PY(J) = X(I + 14); WEEKCJ) = 13 SCKCJD = XCI + 273
J = J + 13
END3
DC J =1 T0 73 ’ -
EgyFoel = NAS
IF STCPY(J) = -1
THEN 003 .
STOUPM(J) = R(4375.01);
STOPG(J) = RC4375.02);
STCPY(J) = R(C4375.032)3
END}
IF STARY(J) 2= NA | STOPY(J) ~= NA
THEN DC3

IF STARYCJ) > O THEN D03
IF STARY(J) < 75 THEN E = S3
ELSE IF STARM(J) > O THEN E =
FUNCSTARMCJ) » STARDCJUD 9 STARY(JDI)D
ENDS
IF STOPMCJ) > 0 & STOPY(JD > O THEN F =
FUNCSTOPM(J)sSTOPLCJDIySTOPY(JII)
IF STOPY(J) “= NA & STOPM(J) A= NA & STOPDC(JD = NA
& SCK(J2 = 0 & STOPY(J) = STARY(J + 1) & STARM(J) =
STIPM(J + 1) =1 & STARD(J + 1) = NA
THEN DO3




S = FUNCSTARMCJ)»1,STARYCJDD; 6.
STOPDCJ + 1) = 303
END3
IF E> 0 & F >= E & WORK “= NA
THEN DC K = E TC F3
IF ACK) = 0 1 ACK) = 3
THEN ACK) = 13
END3
ELSE 003
IF STARYCJD > 2
THEN IF STARMCJ) > 0
THEN E = FUNCSTARM(CJ),
STARDCJ), STARYC DD
FUNC1,1,STARYCJDDS

m

LSE
ELSE E = S

IF STOPYCJ) >
THEN IF ST
THEN F

m

0

gpPMCJdd) > 0

= FUNCSTOPMC(CJI),
STOPDCJD$STCPY(JUID

EUNC12,31,STOPYCJ) ) -

&

F >=FE THEN DO K

IF ACK) =

THEN ACK)
END;

E TC F3

noin

33

IF CKCJ) 2= 0 & ALTCS)
THEN DC3
IF WNWCJ) = NA
THEN D03
IF REASONCY) > 0
THEN DO
IF REASON(CJ) = 5
THEN WUMP
ELSE WOLF
END3S
ELSE WUMP,WOLF = NA:
WORKyNW = NA;
Pt IF E > 0 & F >= E
THEN DO K = E
ACK) = 3
END S

10 F3
’

END3
ELSE IF WNW(J) > 0 &
THEN D33
Z = FLOOR{(F -
+1) /72 + B3
IF F = E + 1 < WNWCJ)
THEN GOTO DAENDS
ELSE DO K = Z TC F WHILE
(WNW(J) >= WEEKC(JI)DS
IF REASONCJ) > 0
THEN DO3
IF REASON(CJ) = 5
.THEN CO;3
IF WUMP A=NA
THEN ACK)I=43
ELSE ACKD)=23
END3

m

> 0 & F >= E

E = WNW(J)




ELSE DGCs

IF WOLF A=Na
THEN A(K)=5;
ELSE A(K)=2;

END3
ENDS
ELSE DCs
WOLFyWUMP = NAS
A(K) = 23
END;
AEEK(J) = WEEK(J) + 1;
ENDS
END>S
END;
END;
IF SCKCJ)Y =1 ! (J =1 & R(461G.) = 1) | YEARCJ) ~= NA
THEN DO

IF MONCJ) = R(C4375.05) & YEARCJ) = R(C4375.07) & DAYCD
THEN DAY({J) = 13
"IF YEAR(CJ) “= NA
THEN DO
IF YEAR(CJ) < 75 THEN G = §3
ELSE IF MONCJ) > 0 THEN G = FUNCMONCJID DAY (J)D,
: YEARCJID DS
END;
u= 13
IF J =1 & R(4619.)
IF E 2= NA & SWNCID
THEN G = E - SWNCQJDS
IF SWNQCJ) = SUMP(J) & E 4= NA & G “= NA &
SUMP(J) #~= NA & SUMP(J) ~= E G
THEN SUMP(J) = E - G3
IF 6 >068 2 >G6
THEN 003
IF SWNQJ) > 0 & ABS(CE - G - SLNM(JDD > 1
& SUMP(CJ) 2= E - G & SUMP(J)Y > 0
THEN SUMP(J) = NAj
BC XK = 6 TO € -13
IF SUMPLJ) >= 0
° THEN D03
IF SUMP(J) >= U
THEN DO}
IF WUMP “= NA
THEN A(CK)D
ELSE A(CK)D

e >N
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Z
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END;
ELSE D33
IF WOLF ~= NA
THEN A(X)
ELSE ACK)

nn
wm
-e

END3S
END3
ELSE DOs
WUMP,WOLF = NAjS
ACK) = 23
END;3
Uu=uU=+1;3

ENDS




ENDS

IF S>0&TD>S THEN DO K = § TO T3
IF ACK) = 0 & ACK =1) A= 0 & ACK +1) A= 0
THEN ACK) = 13
IF ACK) = 1 & WORK A= NA THEN WORK = WORK + 13
- IF ACK) = &4 & WUMP A= NA THEN WUMP = WUMP + 13
IF ACK) = 5 & WOLF A= NA THEN WOLF = WOLF + 13
IF ACK) = 0 THEN WORK,WGLF,WUMP = NA&;
IF ACK) = 3 THEN WORK = NAjS
END;
RETURN;
DAEND: WORKsWUMPyWOLFyNW = NAS

RETURNS

FUN: PROC(My0,Q);

CCL (M,09Q) FLOAT DEC(4);

IF 0 = NA THEN O = 153

N = FLOODRCCQ =75) % (285 /7) + (M =6) % (13 /3) +

(C -1) / (365 /52)+ H)3

IF NS THEN N = §3

RETURN C(N);
END SUNS
‘END WIMP3S -



